(EM{RBEER) T2 7EE—RESETHETE (65) (
% A (B FF)
% - @ - H i IE @l | # IE 2| # E #% i =
14 BEXLS 21, 650 33,106 54, 756
1 EEAIES 21, 650 33,106 54, 756
|1 REBEEGES 21, 650 33,106 b4, To6|RIEEBLTEAIEE RBEEIIES
15 EXHE 107, 200 19, 246 126, 446
1 EBEfiES 107, 200 19, 246 126, 446
2 REBEGES 107, 200 19, 246 126, 446| R EBRRTEIES EREBEERS - RREXES
B A & &t 128, 850 52, 352 181, 202
% H (Bt FA)
% - @m - BH i IE AT | % IE Z| # E % G x
3 R&#E 496, 000 58, 295 554, 295
4 RRELE 496, 000 58, 295 554, 295
|2 ERRERIEELE 496, 000 58, 295 554 295|E REERRENLH RS
E OH & =t 496, 000 58, 295 554, 295
mADKNER
WIERT WER RABLESR
E (RBREXE) 43,300,000 1/2(B#E%E)=_ 21, 650, 000 E (BERE%E) 109,512 161x1/2(&E=E)= 54, 756, 080
&t 21, 650, 000 21,650 +H it 54,756,080 54,756 FH 33,106 FH
B (RI&FERE) 128,500,000 % 3/4(&1E=R)= 96, 375, 000 B (R&fFERE) 132,091,775x3/4 (=)= 99, 068, 831
(RBREXIE) 43,300,000 1/4(E485)= 10,825, 000 (RRREXIE) 109 512,161 x 1/4(@BE)= 27, 378, 040
&t 107,200,000 107,200 FHM it 126, 446, 871 126, 446 F+H 19,246 +H
BHOKRR (—RSHELS)
WIERT BWER RHBESE
ERETTE (REHER) 128,500, 000 ERET T (REBER) 132,091, 775
ERRFE (RBEXE) 43, 300, 000 EREF (RIEEXIE) 109, 512, 161
EHES 66, 260, 000 ERES 64, 799, 840
HEER—BE 36, 400, 000 HEER—BHE 36, 400, 000
BHREILXIE 20, 600, 000 B EILXIE 10, 550, 440
ZDih 200, 940, 000 ZFDit 200, 940, 000
it 496, 000, 000 496, 000 +H it 554,294,216 554,295 +H 58,295 +H




